
Circle the correct equation based on the given scenario.

Circle the Equation

Amanda walked 3 miles. Emily walked 8 miles. Which equation can be 

used to find how many more miles Emily walked than Amanda?

a. 3  +  ?  =  8 b. 3  +  8  =  ?

Henry ran 8 miles. Fred ran 10 miles. Which equation can be used to 

find how many more miles Fred ran than Henry?

a. 8  +  10  =  ? b. 8  +  ?  =  10

Todd read 30 pages. Dave read 45 pages. Which equation can be 

used to find how many more pages Dave read than Todd?

a. 30  +  ?  = 45 b. 30  +  45  =  ?


